Exercises

. For each expression below: ; o
i) Determine any non-permissible values of 6. %

ii) Write the expression as a’single term '
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5. For each expression below:

i) Determine any non-permissible values of 6.
ii) Write the expression as asingle term.

— 3 2
a) V1 sin’d b) 1 — sin’@ + cos’
V1 + tan’d cos 6
Vcos'e = Co<’@ + s
sec’o e
D050
T CO0L 6 C()SQ 7
53 o
ec o = ik
= s 9
i
o s?
> GOSzP
) cos 0 cos 0 ) csc 6
< I+sin0 1 — sinf cotf + tan@
i I
oS & :—smb‘*) w5 (_l_tf,‘l"__‘ﬂ Sin®

ﬁsm (- gmrg) (,_,s‘ine)(l-:-s:ne) T

cos @ sho
1)

. csOsinb
0059 cosa-smﬁ 5 0059* S

S Aop + ('0523@ Lt e
= (”{> +(}> (4 “g/

\\I ,’k’b #e 0&” m[‘r’ G -

o ma ke S s

| = soniee Sl | —sin*o

B o M

gn& sma

w39 _93_5_‘?)

—-P-
n6 (cos®

L@sing

Vi ; {
o G i & | 2Bl + chs 9.3
2coS (7} ; _‘."r;‘ ; | ) -' - cpspsinG
Cos6 . ke L ﬂ] Cos ©
__2_._-—— Gir. \ <N S'] &
o / 74The h
©P DONOT Pythagorean Identmes 627



6. For each identity:
i) Verify the identity using graphing technology-

ii) Prove the identity.
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7. For each identity: e C O : el et

i) Verify the identity for 6 = 240°. ii) Prove the identity.
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8. Is etheriofilicee statements true? Justify your answer. >
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9. For each identity:
i) Determine the non-permissible values of 6.
if) Prove the identity.
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13. Determine a single trigonometric function for m such that the -
equation == g — m T cosfisan identity. Venfy your answer - ¢
by proving the identity. SecH + COS
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